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(1) TLE&
X 14 © @1,800 % 4,400 {f =7,920,000
X2 4R+ @1,700 %X 4,200 f =7,140,000
X3 4ERE © @1,600 % 4,000 {f = 6,400,000

2) ZE#3#&
x14EfE © @750 % 4,400 fl =3,300,000
X2 AERE 1 @700 % 4,200 i = 2,940,000
X3 4ERE © @700 % 4,000 {H = 2,800,000

Q) FimERE
5,100,000+ 4 4 =1,275,000

(4) EIEADEFHLE
X0 4 7,920,000 X 10% = 792,000
X 1 4EE (7,920,000 —7,140,000) X 10% = 78,000
X 2 4% : (7,140,000 — 6,400,000) X 10% = 74,000
X 3 4EJ 1 6,400,000 X 10% = 640,000

2 FXyvyia-7J0-0RELY

(1) x0&EgE
—5,100,000—792,000= —5,892,000
2 x14EE

(7,920,000 —3,300,000) x (1—40%) + 1,275,000 X 40% + 78,000 = 3,360,000
B x2&E
(7,140,000 —2,940,000) X (1—40%) + 1,275,000 X 40% + 74,000 = 3,104,000
4) x3FEE
(6,400,000 — 2,800,000) X (1 —40%) + 1,275,000 X 409% + V840,000 + 640,000 =
4,150,000
(*) (5,100,000~ 1,275,000 x 3 4£) — 550,000 F4="725,000 GEH{8)
550,000+ 725,000 X 40% = 840,000
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2312 —JHAR — & (4) —fi#

FG B2, 28 1 3 HAERIBURE2. 542 TRl > T\ o720, 7Funv =7 M iRAY

Fyyia-JO0—0OFEIG

X T 3,360, 000X 0. 870=2, 923, 200

X 24EFE © 3,104, 000X 0. 756 =2, 346, 624

/AN FE 5,269, 824

X SAEJE : 4,150, 000X 0. 658=2, 730, 700

&  #:8,000,524

SR E T

24F+ %622, 176/2, 730, 700=2. 224 — 2. 24F

(%) 5,892, 000 (FIHIFE%4H) —5, 269, 824 4EH £ TORMIF v v 2 » 7u—)
=622, 176
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